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DETERMINATION OF ACETIC ACID CONTENT OF

VINEGAR
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Jand) 43y )k

O zokis dAl )5 (beaker) (us? (8 4xai g caddall A e Bm s -1
Bl

.(conical flask) b s sae (350 (I Asud) 5 shadll & ()5 sall JAI) Jas -2
T e s A Gl & Jall ) phoph calliss sbdl) Jis (e 4 el Cancal - 3

Jstaall (s sy o () Aalad) 853 sa gall 2 503 seall 2u€ 5 o Bac &) An s 4
sl A ol ane e



oY) s yall/ Leal) dbidazl) 3okl anla 2al 5l e Y1 o alael

cililual

Meq naoH = MEJ cHacooH
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Calculate the wt of CH3COOH when titrated with 0.25N, 15ml
Mg(OH)2? O=16, H=1, C=14



